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Reduce to first order and solve(3+ B 58 » JE3$ 7|3t BB » ST HBEER
Fita) -

xy"+2y +xy=0, y =cosx/x

(15%)
Solve the following initial value problem(3t B8 » B3 7|3t E88 » &3 E
@EARFIHY)

V' +4y=8x>, y(0)=-3, ' (0)=0

(15%)
Solve the following boundary value problem(3t B #8 » 33 7|5t E @2 » &3
UECEL N R
V'=2y'+(A+1)y=0, »(0)=0, y1)=0
(15%)
Solve the following problem by Laplace transform( st B %8 » 3% 5|3t Ei&
£ BHEBREERTHL) -

w(x,0)=0 if x>0, w(0,1)=0 if t=>0
(20%)
Find the corresponding Fourier series of the following periodic function(t &
Mo EHylEEe A EERERTH) -

f(x)=cos(nx), -i<x<i, [f(x+D)=f(x)
(20%)
Find the eigenvalues and eigenvectors of the following matrix (3t £ 78 » 3% 7]

tEd2 o Rt EEBERTHS)

0 —4 -8
4 0 -8
8§ 8 0

(15%)
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